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��	
�
1. �����	
�	�
���������������
������������������� (Irreversible hydrocolloid)
2. 
����1���2
� (Dental  stone)
3. 89��:;���	���:;�
4. =>?9@?A	���:;�
5. ������������
��=��=�� 0.005 8�� 0.003 ���1���
1�
6. E���F���GH�I
J����2� 
�
��K�I��>� (Urea liquicolor®; Human, Germany) 
���������

� RGT1; :���:1��:�:��� (Phosphate buffer, pH 7.0) 120 �
��
���/�
1� �\��>��
\��
�\��1 (Sodium salicylate) 60 �
��
���/�
1��\��>�����1�
����\�� 
(Sodium nitroprusside) 5 �
��
���/�
1� ���
�>������>��11����\
1
�8�\
�
(Ethylenediamine tetra-acitic acid; EDTA) 1 �
��
���/�
1�

� RGT 2; :���:1��:�:��� (Phostphat buffer, pH�������� 13) 120 �
��
���/�
1� 
���
�������  (Hypochlorite) 0.6 ����/�
1� �������

� ENZ; ����\���I�>��� (Urease), �������  500  �
���I�
1/�
1�
� STD; �I��>� (Urea) 80 �
��
����/��\
�
1�2�c� 13.3 �
��
���/�
1� �\��>�����\�� 

(Sodium azide) ������ 0.095
7. E���F���GH�I
J����2�
�
��K�
�1>� (BCA TM Protein Assay Kit) 
���������

� BCATM Reagent A 
������
���� �\��>����������1 (Sodium carbonate), 
�\��>������������1 (Sodium bicarbonate), �����\
����
�
� (Bicinchoninic 
acid) 8���\��>�������1��J��\��>���������\�� 0.1 ���(Sodium tartrate in 
0.1 M sodium hydroxide)

� BCATM Reagent B 
��������� �
�
�
�\���:1  (Cupric sulfate) ������ 4
� Albumin standard 2mg/ml 
��������� Bovine serum albumin (BSA) 
�
��K 

2.0 mg/ml J� 0.9%saline 8�� 0.05% sodium azide
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��
����
1. ���H����A
�� (Mouth mirror) ���\�	������� (Explorer)
2. �>������=��� 50 �
��
�
1�
3. Microplate E�
� 96 well
4. ���cn�A�����������
o����-���A (pH Meter) Orion model EA 520A =�A��
q��Orion 

Research Incorporated, Boston U.S.A.
5. ���cn�A��
��1�:�1�
�1��� (Spectrophotometer DU®65 =�A��
q�� Beckman, U.S.A .)
6. ���cn�A��
��1�:�1�
�1��� (Titertek Multiscan Plus MKII =�A��
q�� Flow Laboratories 

International SA, Finland)
7. 1I���G� u 80 �Av��\��\>��  (Bio-Freezer =�A��
q�� Forma Scientific, U.S.A.)
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������������
=�?�1������F�A���
H��H�8��A����
o���A�����c� �����>n�F�J���
�
� 8���>n�F�J�

2��A
w
��1
���  ����F�A��J���
�
�
������
���� J2�����������F�8�������qK� H����?�9I��
H��
1��H��������:x��@������ 	
�	�
�� 8����G�1������A�?F���� �
�����2���������
o����-���A ��1��
����2�8�������	�:�����	�\
1>?=�A�?F����  ��������F�A��J�2��A
w
��1
���
��������� �����
8��	
�	�:x�8��J2�����������8��:x��@������ �
�����2�
�
��K�?F�����>nJE�J���������1 2�

�
��K�I��>�8���
�1>�J��?F����

���v@�q��>?2������1������A
��E��������AJ��E
yE������������=������A���
H��
�
��A9I�
z���>n�������
������q���A���1���� �>n��A	��������1���� �K����18	��v��1�� 
�2��
�������A=�����
���� \@nAJE���K{�J���������c�������1������A=�A Lussi �c� �>������2���A
16-20 
| 26-30 
| 8�� 46-50 
| 8���>:x�J�E��A
������A���� 20 \>n =@?��


����������	�������

�����>nH���
n��F��
H��8����G�=���I� �}
���J2�����������������~@A�21�9�J����
�F��
H�� 8H�A=�?�1��J�����F��
H��8������8���\����>n��H��
�=@?�	����8����A8���= ��cn�����
������������8���
�����=���������v@�q��
H��J2�����������\G�J��
���� H����?�J2����������
�F�8�������qK� \@nAH�
������
���� =���I�	c?����
����1
��A���8	���8��
����1
���1��H
���q���A���1���� 	�1
��������I8���=��	E��A
�� 8��	�1
����������
�������2����A
8��AJ����9���

9I��
H��1��H���������������8�A=�A:x��@������ ���JE���
��K� 
���������
���H����A
�� ���\�	������� 8��8�A�:H�������>?�F�:x� 	������?A����@��AJ�8�����1��HJ�
E��A
�� 1���������8�A=�A:x��@������81���\>n ��>�A1��1F�82��A8������=�A:x� 1�����
����>��J�1���A�>n \@nA�
o���E�>��AE>?����:x��@������=�A Lussi34 H����?�	
�	�
�����������	
�	�

���������������
������������������� 	������?A��8������
����1���2
���cn����8��v@�q� 
(Study model) �F���E���1��H�
�����2��������8�A=�A:x��@������8��
�����1����J����
1��HJ���������� 10 ���8�������H����9I�EF���y���
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1���A�>n 2 ���qK�:x��@������J�81����������8��8������ 1����E�>��AE>?����:x��@������=�A 
   Lussi34

� � 
� �

 ����


!����!" 
!���
# �$�����
!����$�

��
�� 0 ����>:x��@������ 9
�:x���>���
o�����A� ����>:x��@������ 9
�:x���>���
o�����A�

��
�� 1 �>����Iy��>�9
����c��:x� =��=�A���
�@��������A�
o����c��:x��>n���I�K��>
��������A������������@� 8������@�
�������A���������~@A��c?�:x�

�>:x��@��������G����� ���=�A
�z�:x�
��
n��
o������ =��=�A��������:x���
n���
1���IA=@?���cn��
�>����>�����9
�:x�=��A
��>�A�>n��
n��>����@������ ����@��������A
���������~@A��c?�:x�

��
�� 2 :x���
n��@������~@AE�?���c?�:x�81���A����
������@nA2�@nA=�A����2��=�A��c?�:x�

:x��@���������8�A=@?���cn��
�>����>��
�������� 1 8������@������������~@A
E�?���c?�:x�

��
�� 3 :x���
n��@������~@AE�?���c?�:x�81����
������������������@nA2�@nA=�A����
2��=�A��c?�:x�

-
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�����# ���(� ��	"��������) �
�����*�)�$+����

�����G�1������A�?F����H��F�J�E��A�����>n��G� 9.00 u 11.00 � ���������H�1��A
������
�������2��������G��?F���� 1 E�n���A 8��2����I���2�>n �
}>�����G��?F����J������	�� J2�
�����������nA1��1�A 2�����c��?F���� ���
����K 5 ���> J���2���A�>?~���>�?F����J2������AJ�
�>������ ~�����
�
��1��?F��������J2�=�������1��
����K 5-10 ���> 8���
;�����89��	���:;� 
�F�2����?F����J���������1��� J2������������>?��	���:;� 5 ���> J���2���A�>n��>?��~���>�?F����J2�
�����?F�����AJ��>������ ��cn���� 5 ���>J2�
;��>����������89��	���:;� H����?��F��?F������?A��A
������
�
�����2�2���1������2� ��������
o����-���A 8�������	�:�����	�\
1>? ����F�����>�>n
��
�
� ����
�
��K�?F������������1����>nJE������1�����
o����=�A�?F���� H��F�J�E��A����=�A
�����>������>n��G��?F���� �F�2���
�
��K�I��>�8��
�
��K�
�1>�H��F�����
�����2����2��AH���>n
��G�1������A������	��F�2�������
�����2����������?A��
����K 20 1������A ����>n��G��?F��������>n
1I���G� u 80 �Av��\��\>��

��������,(�*�)�$+����

���
�
��1���?A2��=�A�?F�����>n��G������?A��A����� H����?��F���K2�
�
��1�
1�����> �>2�����
o��
��
�
1�1�����>

 �� ��"#
-���
-
��)*�)�$+����

�����������
o����-���A=�A�?F��������>2��AH�������G��?F�����	cn�����������
���cn��8��J2�����>nJ�����>�A���J�E��A
�� ���8��A�?F������J��2���=�����G� 2 �
��
�
1�8����F�

����
�������=�A���cn�A�����������
o����-���A 8E�J��?F����H������nA���cn�A��������
o����-
���A �����~����������

 ����/#���� �/�0���$

��������:�:�����	�\
1>? ���JE�����
�=�A Bratthal 8�� Ericsson60 \@nA�>�
}>����c�
JE��?F������������1���
�
��1� 1 �
��
�
1� J���AJ�������������
��=��=�� 0.005 ���1���
1�

�
��1� 3 �
��
�
1� �����?F����J������	��JE�
�
��1�1 �
��
�
1�J���AJ�������������
��=��
=�� 0.003 ���1���
1� 
�
��1� 3 �
��
�
1� 9��J2��=����� 8���
;��>����������89��	���:;� �
?A��� 
20 ���> �F��
�����������
o����-���A �������=�A�����������JE����cn�A�����������
o����-���A 
8��
����
������:�:�����	�\
1>? 1����K{���A�>?
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1���A�>n 3 8��A��K{�J����
����
������	�:�����	�\
1>?=�A�?F����60

 �� ��"#
-���

��)	�
�!�� 1����
��#"��

���#����	+�(����$+����2�	3���

/��

������� 4.75
4.25-4.75
3.5-4.25

�������� 3.5

�IA

�1

1nF�

1nF����
���#����	+�(����$+����2�	3���

�����!�

������� 6.5
5.75-6.5

4.00-5.74
�������� 4.00

�IA

�1

1nF�

1nF����

���(�
��"���4#���2��$+����

�F��?F���������	�� 8����������1��� ��2�
�
��K�I��>� ���JE�E���F���GH�I
J�
���2� 
�
��K�I��>� ����>2�������c� �I��>�H������~�
�>n��8
�A�
�
o�8������>�8���������
�������\�� �������\���I�>��� (Urease) 2�c��>����@A�?F����H���������=�A�I��>� 8������>�
�����>n��
�=@?�H��F�
w
�
�
��������
������� (Hypochlorite) 8��\��
�\��� (Salicylate) ����
o�
����>n�>�>�=>�� \@nA����>�=>���>n����>?H��>����I���c�8�A�>n���������cn� 578 ������1� ��?A�>?J�E��
�F���GH�I
�	cn������2�
�
��K�I��>�H��>���
�������8��\��
�\����
o��A��
����� ����>=�?�
1������������A�>?

1. �1�>���I��>���1�����=��=�� 80 �
��
����1����\
�
1�2�c� 13.3 �
��
���1���
1�8����Hc�H�A
�����?F����n��	cn�J2���������=��=�� 5, 10, 20 8�� 40 �
��
����1����\
�
1�

2. �1�>��������>�>nJE�J�����
�����2� (Reagent) ���JE� ENZ 
�
��1� 1 �
��
�
1� 9����� 
RGT 1 
�
��1� 100 �
��
�
1�

3. J���?F����8���I��>���1�����>n
��������=��=���AJ�2�������A H����?��F� Reagent �>n
�1�>��J�=�� 2) 9���AJ�2�������A2����� 1,000 ������
1� 8����F��
�� 
(Incubate) �>n1I�����K2�I�
 37 �Av��\��\>�� ��� 3 ���> H����?�9�� RGT2 
�
��1� 
1,000 ������
1� 8����F��
�� �>n��K2�I�
 37 �Av��\��\>�� ��� 5 ���>
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4. �F����������>n���J��J� Cuvette 8�������������I���c�8�A (Absorbance) 2�c� Optical 
density (OD) �������cn�A��
��1�:�1�
�1����>n���������cn� 570-600 ������1� 2������
�F�A���c�J2�8�A���1���������2�c�8�AJ�E��A�>n��A�2G����9�����������E>�������� 
	��AA��8�AH����1����
���1���=�AE>�������� �F�J2��I�	��AA��8�A��A�������8��

�����������A���� �F��������I���c�8�A�>n�������8�������=��=��=�A�I��>���1����
�
����A���:8���
�����2��������	��}�=�A���:H�����������1�A��A8��A�������A 
8����F��������I���c�8�A�>n�������=�A�?F�����
�
�>����>���	cn�2������=��=��

                                                        ���������1�A........... Y = aX + b.............
        (Y= ����I���c�8�A a= ����E��=�A����1�A X= �����=��=��=�A�I��>� 8�� b=����A�>n)

���(�
��"��5
����2��$+����

�F��?F���������	�� 8����������1��� ��2�
�
��K�
�1>� ���JE�E���F���GH�I

J����2�
�
��K�
�1>� (BCATM Protein Assay Kit) ������>�>n��I�J�E��H��>�I1����A����A���>	c?�
����
o������\
����
�
� (Bicinchoninic acid) \@nA�����~1��H2�8���
�����2�
�
��K�
�1>�
�����������
� Colorlimetric methods61 
w
�
�
���>n��
�=@?���2���A������>J�E�����������
�1>�
J��?F�����c� ��
�
�������� (Cu 1+) H�H������
�1>�������������>n�>�>���A \@nAH��>�����=��=�A
�>�������=@?���I���������=��=��=�A�
�1>� ��?A�>?H������~1��H	������=��=�A�>�������8�A�>n
���������cn� 562 ������1�H�����cn�A��
��1�:�1�>�1���

=�?�1��J�����
�����2�2�
�
��K�
�1>��> 3 =�?�1���c�
1. �1�>������������1����H���
�1>�����I�
� �=��=�� 2 �
��
����1���
��
�
1� 8����Hc�H�A

�����?F����n���A8��AJ�1���A�>n 4
2. �1�>��������>�>nJE������H�� BCATM Reagent A 
�
��1� 50 �
��
�
1�9����� BCA TM

Reagent B 1 �
��
�
1� ����
o� Working reagent
3. �����2������=��=��=�A�
�1>� J���
�1>�����I�
��>n
��������=��=��8��J���?F�����>n

��G�H��1������A�A2���J� micro plate 2����� 10 ������
1� J�� working reagent 1 
�
��
�
1�9��J��
�1>�����I�
�8���?F���� 8����=��� micro plate �	cn�J2�����>n1��A���
������F�
w
�
�
�����E������� �
o���������
����K 30 �
���> �F��
���>n��K2�I�
 37 
�Av��\��\>�� ��� 30 ���>H����?��F��
�����������I���c�8�A�>n���������cn� 570 ����
��1� �������cn�A Titertek Multiscan Plus MKII 2�������F�A���c�J2�8�A���1���������
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2�c�8�AJ�E��A�>n��A�2G����9�����������E>�������� 	��AA��8�AH����1����
���1���
=�AE>�������� �F�J2��I�	��AA��8�A��A�������8��
�����������A���� �F��������I�
��c�8�A�>n�������8�������=��=��=�A�
�1>�����I�
���1�����
����A���: 8��
�
�����2��������	��}�=�A���:H�����������1�A��A8��A�������A 8����F��������I���c�
8�A�>n�������=�A�?F�����
�
�>����>���	cn�2������=��=��

                                                        ���������1�A........... Y = aX + b.............
        (Y= ����I���c�8�A a = ����E��=�A����1�A X = �����=��=��=�A�
�1>� b = ����A�>n)

1���A�>n 4 ����1�>�������=��=��=�A�
�1>�����I�
��	cn��F���JE�J���������2������=��=��
   =�A�
�1>�J��?F����

(��
 
��"����$+������ 
��"���*�)����4"��"���6��  ��"#*!"*!�*�)����4"��

�
��) (,"5 �����)  (,"5 ����"���"�������")

A 0 300 ������
1�H������I�
���1���� 2,000
B 125 375 ������
1�H������I�
���1���� 1,500
C 325 325 ������
1�H������I�
���1���� 1,000
D 175 175 ������
1�H��2�������A B 750
E 325 325 ������
1�H��2�������A C 500
F 325 325 ������
1�H��2�������A E 250
G 325 325 ������
1�H��2�������A F 125
H 400 100������
1�H��2�������A G 25
I 400 0 0
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��"����$+����	3��������!����2B!,�#��� ��"#
-���
-
��)���4.5 ��� 5.5

�������AJ�=�?�1���>?��A����>���v@�q�J�����F������� ����>8���
���H�����


����
����������~=�A��2���>n�F�J2���
�:x��@������ �>���JE���������1����
���\
�
�>?�	cn�

����
����������~=�A��2��J�����F�J2���
�:x��@�������������A8	��2��� ��cn�AH���>���
A��	����J2�����>n~I�1��A8����F�8�������~������K����������~=�A��2��J�����F�J2���
�:x�
�@���������10,11  ���2���������1����
���\
�
1>?H�JE����������>n�>�����
o����A�IA�E�� �\��>��
�������\�� (NaOH) ��
����������
o����=�A��2���A ���������	
n�
�
��1�=�A����>n�
o�
���A�>������ � H������nA��2���>n�F���������>����
o����A 
�
��K���A��?A2���>nJE�H��
o����
�����1����
���\
�
1>? \@nA	����~�����E�
�J��>��������1����
���\
�
1>?�IA 8��A����>����
�����~J�����F�J2���
�:x��@�������IA�����E�����43, 45-47 J����v@�q��>?��c��JE��?F����8������>n
�>�����
o����A�	cn��>nv@�q����������~=�A�?F����J����
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